



Effect of Embryonic Development Speed and Temperature-Humidity Index on the Pregnancy Rate of Dairy Cattle Embryos Produced *in vitro*

Mayra Ester Enriquez-Martínez¹, Martín Alfredo Legarreta-González²,
Rafael Rodríguez-Martínez³, Ángeles De Santiago-Miramontes³, Gerardo Arellano-Rodríguez³,
Oscar Ángel-García³, Guadalupe Calderón-Leyva³, Dalia Ivette Carrillo-Moreno³,
Cayetano Navarrete-Molina³, Francisco Gerardo Véliz-Deras³

10.18805/IJAR.BF-2162

ABSTRACT

Background: *In vitro* production of dairy cattle embryos, complemented by embryo transfer, is one of the main reproductive biotechnologies employed globally. However, factors such as the embryonic development rate (EDR) and the temperature-humidity index (THI) affect their effectiveness. The aim of this study was to evaluate the influence of EDR, represented by blastocysts obtained on *in vitro* culture days 7 and 8 and THI on pregnancy rate (PR) in Holstein cows using the embryo transfer technique.

Methods: An 800 recipient Holstein cows, which received a single quality 1 expanded blastocyst. The recipient cows were classified by the embryonic development (ED) day (day 7, n=356; day 8, n=444) and thermal conditions at the time of transfer, defined by THI as normal (≤ 72) or heat stress (HS) (> 72). The PR was determined through ultrasonography 60 days after embryo transfer. To evaluate the association between the variables considered, a Pearson's chi-squared test was performed. The association between the variables was estimated using the odds ratio and Cramer's V. A logistic binomial regression model was adjusted to evaluate the individual effects of the variables and their interaction on the probability of pregnancy in cows.

Result: The blastocysts transferred on the 7th day reported a higher PR than those transferred on the 8th day (52.0 vs 44.6%; $P=0.038$). Furthermore, cows exposed to a normal THI showed a higher PR than those under HS (64.7 vs 41.7%; $P<0.001$). The interaction between variables was significant, revealing that under HS conditions, blastocysts transferred on the 7th day showed a higher PR than those transferred on the 8th day (52.2 vs 30.9%; $P<0.001$). The early developmental blastocysts exhibited a greater capacity to maintain pregnancy under HS conditions, suggesting that EDR may serve as a complementary criterion for morphological evaluation to identify embryos with a higher likelihood of establishing pregnancy.

Key words: Blastocysts, Dairy cattle, Embryo transfer, Heat stress.

INTRODUCTION

The heat stress (HS) identified as a major external factor affecting dairy cattle (DC) productivity (Fernandez-Novo *et al.*, 2020). In this context, negative effects have been documented of HS on DC productivity (Winton *et al.*, 2024). These include reproductive disorders, which decrease fertility and, consequently, the reproductive efficiency of dairy systems (Cavestany *et al.*, 1985). It has been reported that HS reduces gestation percentages and disrupts follicular development, oocyte quality, uterine blood flow and progesterone secretion, leading to increased embryonic mortality both *in vitro* and *in vivo* (Silva *et al.*, 2013). However, its severity is determined by a combination of environmental factors, including temperature, relative humidity, solar radiation and wind (Herbut *et al.*, 2018). In this sense, to quantify the intensity of HS across animals in relation to the environment, Hahn *et al.* (2009) developed a temperature-humidity index (THI) based on calculations of wind temperature and relative humidity; considering a normal $THI \leq 72.0$.

One of the reproductive biotechnologies used by genetic improvement programs is *in vitro* embryo production via ultrasound-guided follicular aspiration (Cardoso-Consentini

¹Graduate Program-Agricultural and Livestock Sciences, Antonio Narro Agrarian Autonomous University, Laguna Unit, Torreon, Coahuila 27054, Mexico.

²Technological Institute of Monterrey, Monterrey, Nuevo Leon, 64700, Mexico.

³Regional Division of Animal Science, Antonio Narro Agrarian Autonomous University, Laguna Unit, Torreon, Coahuila 27054, Mexico.

Corresponding Authors: Cayetano Navarrete-Molina and Francisco Gerardo Véliz-Deras, Regional Division of Animal Science, Antonio Narro Agrarian Autonomous University, Laguna Unit, Torreon, Coahuila 27054, Mexico.

Email: navarretemolina1977@gmail.com; velizderas@gmail.com

ORCID: <https://orcid.org/0000-0001-7867-2745>; <https://orcid.org/0000-0002-5105-1508>

How to cite this article: Enriquez-Martínez, M.E., Legarreta-González, M.A., Rodríguez-Martínez, R., Santiago-Miramontes, Á.D., Arellano-Rodríguez, G., Ángel-García, O., Calderón-Leyva, G., Carrillo-Moreno, D.I., Navarrete-Molina, C. and Véliz-Deras, F.G. (2026). Effect of Embryonic Development Speed and Temperature-Humidity Index on the Pregnancy Rate of Dairy Cattle Embryos Produced *In vitro*. *Indian Journal of Animal Research*. 1-6. doi: 10.18805/IJAR.BF-2162.

Submitted: 22-07-2026 **Accepted:** 31-08-2026 **Online:** 19-09-2026

et al., 2021). However, it's been reported that HS affects embryo development in DC (Hansen, 2019). Regarding the negative effects of HS on DC embryos, it has been reported that susceptibility is higher during early embryonic development (ED), whereas after the 7th day, embryos exhibit greater thermotolerance (Hansen, 2019). Biggers *et al.* (1987) reported a negative association between HS and pregnancy rate (PR) in bovine embryos during the sixth day of development. Which suggest that, despite the embryos' apparent acquired tolerance during the 7th day, HS may still affect their viability and reproductive performance. Hence, the objective of this study was to evaluate the influence of embryonic development rate (EDR), as represented by blastocysts obtained on the 7th and 8th days of *in vitro* culture and THI on PR in Holstein cattle using the embryo transfer technique. The objective above may contribute to improving the DC's reproductive success and, consequently, the income of cattle-milk-producing families; furthermore, it will contribute to global efforts to meet the goals of the 2030 Agenda for Sustainable Development (Navarrete-Molina *et al.*, 2019; Autukaitė *et al.*, 2021; Pampori *et al.*, 2025; Armijo-Nájera *et al.*, 2026).

MATERIALS AND METHODS

Animal management

All animals involved in the study were managed in accordance with national and international guidelines for research ethics, care and animal welfare (FASS, 2010; NAM, 2011). This study received institutional approval with number UAAAN-UL-25-1824. The study period spanned from January to December 2025. A total of 800 recipient and 200 donor Holstein cows, free from diseases and reproductive problems, were used in the study, with a body condition score of 3.0 ± 0.25 units. Each bovine recipient's uterus received a single expanded blastocyst-stage embryo at 7 or 8 days of development.

Ovum pick-up

Each female bovine donor underwent a unique follicular aspiration session, performed using a guide connected to a cannula and a vacuum pump (WTA® 240V, USA). To recollect the aspirated oocytes from both ovaries of the donor cattle, 50 mL centrifuge tubes previously prepared with 400 µL of heparin and 5 mL of Phosphate Buffered Saline were employed (Solís-Corrales *et al.*, 2012).

Oocyte selection

The oocytes were filtered through a 75-micron filter (WTA®, USA) until an impurity-free sample was obtained. The oocyte selection was done through direct observation with a stereo zoom microscope (Motic® SMZ-171 TLED, Canada), taking into account the morphologic characteristics of the cumulus-oocyte complex, specifically, the quantity, integrity and compaction of the cumulus cells that surrounded the oocyte (Stringfellow and Seidel, 2010).

Oocyte maturation and fertilization

To complete the nucleus maturation, the oocytes were subjected to an *in vitro* maturation process, following the procedure described by Paula-Lopes and Hansen (2002). Mature oocytes were fertilized according to the method described by Paula-Lopes and Hansen (2002).

Embryo cultivation and cryopreservation

Zygotes were distributed in groups of 25 to 30 embryos in 50 µL drops and supplemented as described by Paula-Lopes and Hansen (2002) until develop to the blastocyst stage they reached the blastocyst stage. The embryos were cryopreserved *via* slow freezing, following the procedure described by Zárate-Guevara *et al.* (2018).

Female bovine recipient synchronization

To synchronize the female recipients, the protocol described by Zárate-Guevara *et al.* (2018) was used.

Embryonic transfer and pregnancy diagnosis

Every recipient cow received a single quality 1 expanded blastocyst-stage embryo, according to the classification by Stringfellow and Seidel (2010), with 7 or 8 days in development. The procedure and technique described by Naranjo-Chacón *et al.* (2016) were used for the transfer. The pregnancy diagnosis was performed 60 days after the transfer by ultrasonography (Mindray®, 2200, USA).

Meteorological data and calculation of the temperature-humidity index

The meteorological data included the maximum daily temperature (°C) and the maximum daily relative humidity (%), obtained from the Meteoblue platform for Gómez Palacio, Durango, México (Meteoblue, n.d.). For each embryonic transfer date, the THI was calculated using the equation proposed by Mader *et al.* (2006):

$$THI = (0.8 \times T) + (RH/100 \times [T - 14.4]) + 46.4$$

Where,

THI = Temperature-humidity index.

T = Maximum daily temperature (°C).

RH = Maximum daily relative humidity (%).

Subsequently, the transfers were classified into two categories based on the THI: normal conditions ($THI \leq 72.0$) and heat stress ($THI > 72.0$).

Experimental design and statistical analysis

A total of 800 Holstein DC were used as recipients, each receiving a single quality 1 expanded blastocyst-stage embryo. The recipient animals were divided into two groups based on the embryonic development day (EDD) at the time of transfer: 356 received embryos at 7 days of development and 444 received embryos at 8 EDD. The response variable was the PR as determined by ultrasound diagnosis 60 days after embryo transfer (Mindray®, 2200, USA), using the equation:

Pregnancy rate (PR; %) =

$$\frac{\text{Total pregnant cows that received an oocyte at } n \text{ days of development}}{\text{Total cows that received an oocyte at } n \text{ days of development}}$$

A Pearson's chi-squared test was performed to evaluate the association between the PR and the EDD (7 or 8 days) and between the PR and the THI categories (normal ≤ 72.0 and heat stress >72.0). The association between the variables was estimated using the odds ratio and Cramer's V. A logistic binomial regression model was adjusted to evaluate the effect of the EDD, THI and their interaction on the probability of pregnancy; Nagelkerke's R^2 was calculated to assess the proportion of variance explained by the predictors. All statistical analyses in this study used a 95% confidence interval, with $P < 0.05$ as the threshold for statistical significance and were performed using IBM SPSS Statistics v. 23 (IBM Corp. Armonk, NY, USA).

RESULTS AND DISCUSSION

Blastocyst transfer with different developmental rates and their effect on pregnancy rate

Table 1 shows the results for PR after ET in quality 1 blastocyst expanded stage for different days of development (*i.e.*, 7 or 8). It can be observed that blastocysts transferred on the 7th day had a PR higher than 7.4%, compared with those transferred on the 8th day (52.0% and 44.6%, respectively). These results are consistent with other research that has reported that blastocysts produced *in vitro*, with an early formation (6 or 7 days), show pregnancy rates higher than those with a late formation (8 or 9 days), suggesting that the EDR may serve as an additional indicator of embryonic competence and reproductive potential (Ferré *et al.*, 2020; Kim *et al.*, 2025).

Regarding embryo morphology, a result consistent with those observed in Hanwoo cattle, where blastocysts developed at the 7th day reached a higher PR in comparison to late development blastocysts (*i.e.*, days 8 and 9) (Park *et al.*, 2006). These results may be attributed to the fact that blastocysts with a late developmental rate exhibit lower intrinsic quality, even though their external morphology may be classified as "normal" according to conventional criteria (Rabel *et al.*, 2023). It's been reported that the use of ET during day 7 allows to avoid major thermal sensibility periods in oocytes and early embryos (Gendelman and Roth, 2012; Baruselli *et al.*, 2020).

Temperature-humidity index and its effect on pregnancy rate

The obtained results about the THI and PR (Table 2) demonstrate that, under normal THI conditions, the PR was higher than the recipient DC's uterus under HS ($P < 0.05$), with a calculated difference of 23.0%, by going from a 41.7% in DC under HS, to a 64.7% in DC under normal THI. Likewise, cattle in a normal thermal environment had a 2.55-fold higher probability of achieving pregnancy than those under HS. In this sense, Cramer's V showed a moderate correlation strength for these variables. The PR reduction observed in recipients exposed to HS was consistent with Schüller *et al.* (2014), who reported that cattle exposed to HS had a significantly lower probability of pregnancy than those kept below the HS threshold. Similarly, Kasimanickam and Kasimanickam (2021) reported that cattle exposed to HS had a PR of 31.0%, whereas those not exposed had a PR of 52.0%, indicating a 21-point decrease associated with HS.

In DC, HS not only directly affects the embryo but also alters females' physiological functions, including their reproductive processes. It has been reported that exposure to heat increases circulating concentrations of cortisol, prolactin and prostaglandin metabolites (Jerome and Srivastava, 2012), thereby compromising folliculogenesis, oocyte competence and corpus luteum function. Reducing, as a result, the progesterone production, creating a less favorable uterine environment for the ED and the establishment of pregnancy (Kasimanickam and Kasimanickam, 2021).

From a metabolic perspective, an increase in THI could lead to decreased dry matter intake and a negative energy balance (Rodriguez-Venegas *et al.*, 2023). These systemic changes, together with the aforementioned negative effects on reproduction, may increase early embryonic loss (Kasimanickam and Kasimanickam, 2021). All the information above can contribute to a better understanding of the causes of the low PR obtained under HS conditions (Table 2). However, it should be noted that the present study did not evaluate other factors associated with PR, such as feeding, management and housing conditions of recipient cattle, among others, which also have the potential to affect the results.

Effect of the interaction between the temperature-humidity index and blastocyst transfer at different development rates on pregnancy rate

Table 3 describes the interaction among THI, transfer timing and pregnancy success. It can be observed that, under

Table 1: Association between the day of embryonic development and pregnancy rate in Holstein dairy cows.

Day of embryonic development	N	Non-pregnant; n (%)	Pregnant; n (%)	Odds ratio (95%CI) ¹	P-value	Cramer's V
7	356	171 (48.0)	185 (52.0)	1.35 (1.02-1.79)	0.038	0.07
8	444	246 (55.4)	198 (44.6)			
Total	800	417	383			

Pearson Chi-Square value: $\chi^2(1) = 4.303$; ¹95%CI: 95 % confidence interval.

normal THI conditions, the embryos transferred on the 8th day achieved a PR of 69.9%, higher than the 50.8% recorded on the 7th day. However, a reversal in the results was observed under HS conditions, where PR remained stable on day 7, whereas on day 8 it dropped to 30.9%, indicating a statistically significant association stronger than that observed under normal THI conditions. The effect size, calculated with Cramer's V, reveals that the influence of EDD on PR intensifies with increasing THI (Table 3).

The observed differences in PR percentages across different THI levels provide evidence that HS exerts an effect in accordance with the ED chronology. For example, under thermal neutrality, the higher efficiency on day 8 compared with day 7 suggests optimal synchronization with the recipient's uterine environment (Silva *et al.*, 2013). However, the drastic reduction in PR on day 8 (from 69.9% to 30.9%) under HS may indicate that embryos are highly vulnerable to the mother's physiological alterations (Hansen, 2019). In this sense, it has been reported that maternal hyperthermia decreases uterine blood perfusion and increases intrauterine temperature, thereby compromising the viability of embryos that already have altered metabolism (Silva *et al.*, 2013; Winton *et al.*, 2024).

The stability of the PR during day 7, despite the increase in the THI, supports the thesis that the embryo transfer allows

the omission of the major thermic sensibility stages, which take place between days 1 and 6 post-fecundation (Kasimanickam and Kasimanickam, 2021). In that sense, Hansen (2019) highlights that the first seven days of the ED are particularly susceptible to the effects of HS and that embryonic resistance increases progressively as development advances. In this context, it has been demonstrated that the exposure of cattle to HS during the first day after estrus diminished the percentage of embryos that reached the blastocyst stage during day 8, whereas the exposure to HS after days 3, 5 and 7 post-estrus showed a considerably smaller effect (Silva *et al.*, 2013).

The logistic regression model used to estimate the probability of pregnancy was significant (Table 4). The three predictors included in the analysis showed a significant effect on the dependent variable ($P < 0.001$). The results for the EDD factor revealed that, when the other variables were held constant, embryos transferred on day 7 had a 2.44-fold higher probability of pregnancy than those transferred on day 8. For its part, the odds ratio, indicated that the recipients, during normal temperature conditions had a probability 5.18 times higher to achieve pregnancy compared to recipients under HS conditions.

The significance of the logistic regression model confirms that the probability of success in embryo transfer

Table 2: Association between the temperature-humidity index (THI) and the pregnancy rate in Holstein dairy cows.

THI	N	Non-pregnant; n (%)	Pregnant; n (%)	Odds ratio (95%CI) ¹	P-value	Cramer's V
Normal (≤ 72.0)	215	76 (35.3)	139 (64.7)	2.55 (1.82-3.57)	<0.001	0.204
Heat stress (> 72.0)	585	341 (58.3)	244 (41.7)			
Total	800	417	383			

Pearson Chi-square value: $\chi^2(1) = 33.159$; ¹95%CI: 95% confidence interval.

Table 3: Association between the temperature-humidity index (THI), embryonic development day (EDD) and pregnancy rate in Holstein dairy cows.

THI	EDD	Non-pregnant; n (%)	Pregnant; n (%)	Total	Pearson Chi-square value	P-value	Cramer's V
Normal (≤ 72.0)	7	29 (49.2)	30 (50.8)	59	6.78	0.009	0.178
	8	47 (30.1)	109 (69.9)	156			
Heat stress (> 72.0)	7	142 (47.8)	155 (52.2)	297	27.25	<0.001	0.216
	8	199 (69.1)	89 (30.9)	288			
Total	7	171 (48)	185 (52)	356	4.3	0.038	0.073
	8	246 (55.4)	198 (44.6)	444			

Table 4: Logistic regression model for the probability of pregnancy as a function of the embryonic development day (EDD), temperature-humidity index (THI) and their interaction in Holstein dairy cows.

Predictor	Coefficient	Standard error	Wald	P-value	Odds ratio (OR)	OR (95%CI) ¹
Constant	-0.805	0.128	39.818	<0.001	0.447	
EDD 7 vs EDD 8	0.892	0.172	26.757	<0.001	2.441	1.74-3.42
Normal (THI ≤ 72.0) vs Heat stress (THI > 72.0)	1.646	0.216	57.991	<0.001	5.186	3.40-7.92
EDD*THI Interaction	-1.7	0.358	22.563	<0.001	0.183	0.09-0.37

Pearson Chi-square value: $\chi^2(3) = 67.575$, $P < 0.001$; Nagelkerke's $R^2 = 0.108$; ¹95%CI: 95% confidence interval.

programs depends on the interaction between embryo vigor and maternal environmental conditions (Baruselli *et al.*, 2020). In this respect, it has been reported that EDR is a biomarker of biological competence (Kim *et al.*, 2025). Blastocysts that reach the transfer stage early have an inner cell mass with more cells and a higher expression of pluripotency transcription factors (Kim *et al.*, 2025). In contrast, the observed delay in embryos on the 8th day is associated with an increase in the cellular apoptosis index, which reduces their ability to be implanted (Yang and Rajamahendran, 2002). These results also suggests that the biologic advantage of 7th day embryos manifests itself differentially according to the THI; however, under HS, the embryo's intrinsic competence becomes critic, as only those with active thermotolerance mechanisms manage to survive in a uterine environment with reduced levels of progesterone and a compromised blood flow (Silva *et al.*, 2013; Winton *et al.*, 2024).

CONCLUSION

The EDR and thermal conditions at the time of transfer influence pregnancy establishment, as blastocysts transferred on days 7 and 8 showed similar morphological characteristics but differed in PR. In addition, the observed interaction between EDD and THI indicates that the embryos' response to environmental conditions may vary depending on their intrinsic developmental capacity. This suggests that EDR can serve as a complementary criterion in morphologic evaluation to identify embryos with a higher likelihood of achieving a successful pregnancy. It's recommended that the transfer of embryos at the blastocyst stage, around the 7th day of development, constitutes a strategy to reduce the negative effects of HS on fertility. This may allow ET programs for *in vitro*-produced embryos to select high-quality embryos, aiming to mitigate low seasonal fertility in Holstein dairy cows.

ACKNOWLEDGEMENT

The authors acknowledge the owner and workers of the bovine dairy production unit for the facilities and support received during the development of this study.

Disclaimers

The views and conclusions expressed in this article are solely those of the authors and do not necessarily represent the views of their affiliated institutions. The authors are responsible for the accuracy and completeness of the information provided, but do not accept any liability for any direct or indirect losses resulting from the use of this content.

Informed consent

Informed consent was obtained from the owner of the animals involved in this study. All experimental procedures and animal management used in this study were conducted in accordance with international and national standards for research ethics, care and animal welfare. Additionally, this

investigation received institutional approval, with reference number UAAAN-UL-25-1824.

Conflict of interest

The authors declare that there are no conflicts of interest regarding the publication of this article. No funding or sponsorship influenced the design of the study, data collection, analysis, decision to publish, or preparation of the manuscript.

REFERENCES

- Armijo-Nájera, J., Alvarado-Espino, A.V., Véliz-Deras, F.G., Chavarriá-Neri, I.C., Arellano-Rodríguez, G., Flores-Salas, J.M., Ángel-García, O., Navarrete-Molina, C., Véliz-Romero, F.G., Alvarado-Espino, A.S. (2026). Effect of treatment with equine or human chorionic gonadotropin on blood count values in early gestation in nulliparous sheep in northern Mexico. *Indian Journal of Animal Research*. 1-10. doi: 10.18805/IJAR.BF-2128.
- Autukaitė, J., Počkienė, I., Juozaitienė, V., Antanaitis, R., Baumgartner, W. and Žilinskas, H. (2021). The influence of thermal stress on serum biochemical profile in sheep. *Indian Journal of Animal Research*. **55(6)**: 647-651. doi: 10.18805/IJAR.B-1349.
- Baruselli, P.S., Ferreira, R.M., Vieira, L.M., Souza, A.H., Bó, G.A. and Rodrigues, C.A. (2020). Use of embryo transfer to alleviate infertility caused by heat stress. *Theriogenology*. **155**: 1-11. doi: 10.1016/j.theriogenology.2020.04.028.
- Biggers, B.G., Geisert, R.D., Wetteman, R.P. and Buchanan, D.S. (1987). Effect of heat stress on early embryonic development in the beef cow. *Journal of Animal Science*. **64(5)**: 1512-1518. doi: 10.2527/jas1987.6451512x.
- Cardoso-Consentini, C.E., Wiltbank, M.C. and Sartori, R. (2021). Factors that optimize reproductive efficiency in dairy herds with an emphasis on timed artificial insemination programs. *Animals*. **11(2)**: 301. doi: 10.3390/ani11020301.
- Cavestany, D., El-Wishy, A.B. and Foote, R.H. (1985). Effect of season and high environmental temperature on fertility of Holstein cattle. *Journal of Dairy Science*. **68(6)**: 1471-1478. doi: 10.3168/jds.s0022-0302(85)80985-1.
- FASS-Federation Animal Science Society. (2010). Guide for the Care and Use of Agricultural Animals in Agricultural Research and Teaching, 3rd ed.; Federation Animal Science Society: Champaign, IL, USA. p. 177.
- Fernandez-Novo, A., Pérez-Garnelo, S.S., Villagrà, A., Pérez-Villalobos, N. and Astiz, S. (2020). The effect of stress on reproduction and reproductive technologies in beef cattle- A review. *Animals*. **10(11)**: 2096. doi: 10.3390/ani10112096.
- Ferré, L.B., Kjelland, M.E., Strøbech, L.B., Hyttel, P., Mermillod, P. and Ross, P.J. (2020). Review: Recent advances in bovine *in vitro* embryo production: Reproductive biotechnology history and methods. *Animal*. **14(5)**: 991-1004. doi: 10.1017/s1751731119002775.
- Gendelman, M. and Roth, Z. (2012). *In vivo* vs *in vitro* models for studying the effects of elevated temperature on the GV-stage oocyte, subsequent developmental competence and gene expression. *Animal Reproduction Science*. **134(3-4)**: 125-134. doi: 10.1016/j.anireprosci.2012.07.009.

- Hahn, G.L., Gaughan, J.B., Mader, T.L. and Eigenberg, R.A. (2009). Chapter 5: Thermal Indices and Their Applications for Livestock Environments. In: *Livestock Energetics and Thermal Environmental Management*, [DeShazer, J.A. (Ed.)] St. Joseph, Mich.: ASABE. American Society of Agricultural and Biological Engineers. 113-130 p.
- Hansen, P.J. (2019). Reproductive physiology of the heat-stressed dairy cow: Implications for fertility and assisted reproduction. *Animal Reproduction*. **16(3)**: 497-507. doi: 10.21451/1984-3143-ar2019-0053.
- Herbut, P., Angrecka, S. and Walczak, J. (2018). Environmental parameters to assessing of heat stress in dairy cattle-A review. *International Journal of Biometeorology*. **62**: 2089-2097. doi: 10.1007/S00484-018-1629-9.
- Jerome, A. and Srivastava, N. (2012). Prostaglandins vis-à-vis bovine embryonic mortality: A review. *Asian Pacific Journal of Reproduction*. **1(3)**: 238-246. doi: 10.1016/S2305-0500(13)60085-8.
- Kasimanickam, R. and Kasimanickam, V. (2021). Impact of heat stress on embryonic development during first 16 days of gestation in dairy cows. *Scientific Reports*. **11**: 14839. doi: 10.1038/s41598-021-94278-2.
- Kim, T.G., Choe, Y.H., Kim, S.H., Lee, S.Y., Jang, M., Yun, S.H., Kim, S.J., Lee, S.L. and Lee, W.J. (2025). Increased apoptosis in late-developing *in vitro* fertilized bovine blastocysts decreases successful pregnancy. *Animal Bioscience*. **38(3)**: 454-465. doi: 10.5713/ab.24.0454.
- Mader, T.L., Davis, M.S. and Brown-Brandl, T. (2006). Environmental factors influencing heat stress in feedlot cattle. *Journal of Animal Science*. **84(3)**: 712-719. doi: 10.2527/2006.843712x.
- Meteoblue. (n.d.). Weather Archive Gómez Palacio. Available online: https://www.meteoblue.com/en/weather/historyclimate/weatherarchive/g%c3%b3mez-palacio_mexico_4005775 (accessed on June 22, 2026).
- NAM-National Academy of Medicine (2011). Guide for the Care and Use of Laboratory Animals, 8th ed.; Co-Produced by the National Academy of Medicine-Mexico and the Association for Assessment and Accreditation of Laboratory Animal Care International: Harlan, KY, USA; Mexico City, Mexico. National Academies Press (US). doi: 10.17226/12910.
- Naranjo-Chacón, F., Becerril-Pérez, C.M., Canseco-Sedano, R., Zárate-Guevara, O.E., 3, Soto-Estrada, A., Rosales-Martínez, F. and Rosendo-Ponce, A. (2016). Comparison of two embryo transfer methods in the tropical milking criollo cattle. *Ecosistemas y Recursos Agropecuarios*. **3(7)**: 113-120. (in Spanish). Available online: <https://www.redalyc.org/pdf/636/63624631006.pdf> (accessed on June 22, 2026).
- Navarrete-Molina, C., Meza-Herrera, C.A., Ramirez-Flores, J.J., Herrera-Machuca, M.A., Lopez-Villalobos, N., Lopez-Santiago, M.A. and Veliz-Deras, F.G. (2019). Economic evaluation of the environmental impact of a dairy cattle intensive production cluster under arid lands conditions. *Animal*. **13(10)**: 2379-2387. doi: 10.1017/S17517311190048X.
- Pampori, Z.A., Arif, O., Aasif, S., Hasin, D. and Shah, F. (2025). Housing effect on growth, physiological and blood indices in crossbred sheep during winter. *Indian Journal of Animal Research*. **59(7)**: 1224-1229. doi: 10.18805/IJAR.B-4827.
- Paula-Lopes, F.F. and Hansen, P.J. (2002). Heat shock-induced apoptosis in preimplantation bovine embryos is a developmentally regulated phenomenon. *Biology of Reproduction*. **66(4)**: 1169-1177. doi: 10.1093/biolreprod/66.4.1169.
- Park, Y.S., Kim, S.S., Kim, D.H. and Park, H.D. (2006). Effects of the *in vitro* produced Hanwoo blastocyst stage, *in vitro* culture day and blastocyst grade on the production of clones. *Journal of Embryo Transfer*. **21(4)**: 299-306.
- Rabel, R.A.C., Marchioretto, P.V., Bangert, E.A., Wilson, K., Milner, D.J. and Wheeler, M.B. (2023). Pre-implantation bovine embryo evaluation-From optics to omics and beyond. *Animals*. **13(13)**: 2102. doi: 10.3390/ani13132102.
- Rodriguez-Venegas, R., Meza-Herrera, C.A., Robles-Trillo, P.A., Angel-Garcia, O., Legarreta-Gonzalez, M.A., Sánchez-Vocanegra, H.F. and Rodriguez-Martinez, R. (2023). Effect of THI on milk production, percentage of milking cows and time lying in Holstein cows in northern-arid Mexico. *Animals*. **13(10)**: 1715. doi: 10.3390/ani13101715.
- Schüller, L.K., Burfeind, O. and Heuwieser, W. (2014). Impact of heat stress on conception rate of dairy cows in the moderate climate considering different temperature-humidity index thresholds, periods relative to breeding and heat load indices. *Theriogenology*. **81(8)**: 1050-1057. doi: 10.1016/j.theriogenology.2014.01.029.
- Silva, C.F., Sartorelli, E.S., Castilho, A.C.S., Satrapa, R.A., Puelker, R.Z., Razza, E.M., Ticianelli, J.S., Eduardo, H.P., Loureiro, B. and Barros, C.M. (2013). Effects of heat stress on development, quality and survival of *Bos indicus* and *Bos taurus* embryos produced *in vitro*. *Theriogenology*. **79(2)**: 351-357. doi: 10.1016/j.theriogenology.2012.10.003.
- Solís-Corrales, A., Guerra, R., Sandoya, G. and De Armas, R. (2012). Efecto de Sincronización de la Onda Folicular y de la Frecuencia de Aspiración de Folículos en Novillas de la Raza Brahman. *Revista Electrónica Veterinaria*. **13(10)**: 1-16. (in Spanish). Available online: <https://www.redalyc.org/pdf/636/63624631006.pdf> (accessed on June 22, 2026).
- Stringfellow, D.A. and Givens, M.D. (2010). Manual of the International Embryo Transfer Society. 4th ed. International Embryo Transfer Society. Champaign, IL.
- Winton, T.S., Nicodemus, M.C. and Harvey, K.M. (2024). Stressors inherent to beef cattle management in the United States of America and the resulting impacts on production sustainability: A review. *Ruminants*. **4(2)**: 227-240. doi: 10.3390/ruminants4020016.
- Yang, M.Y. and Rajamahendran, R. (2002). Expression of Bcl-2 and Bax proteins in relation to quality of bovine oocytes and embryos produced *in vitro*. *Animal Reproduction Science*. **70(3-4)**: 159-169. doi: 10.1016/s0378-4320(01)00186-5.
- Zárate-Guevara, O.E., Cisneros-Prado, J.L., Canseco-Sedano, R., Montiel-Palacios, F. and Carrasco-García, A.A. (2018). Transfer of cryopreserved bovine embryos: Effect of blastocentesis. *Agrociencia*. **52**: 21-32. Available online: <https://agrociencia-colpos.org/index.php/agrociencia/article/view/1734/1734> (accessed on June 22, 2026).